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POLITICAL SCIENCE
( Regular Elective )

Full Marks : 80
Time : 3 hours "’

The figures in the margin indicate full marks
for the questions

Answer the questions from any one Option

Answer either in English or in Assamese

OPTION—A
Paper : POL-RE-5016

( Public Administration—I )

1. Answer the following questions : 1x10=10
e fi epeard Te ford -

(@) In which year was the study of Public
Administration started as a separate
discipline?

01 S S B B | | M E S AR TEC
o s (2f%e ?
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(b)

()

(@)

(e)

(g)

(b

24A/185

(2)

Which stage of evolution of Public
Administration is considered as the
‘golden era’?

ETF-2PPR PR @11 /7S ‘cnarar 3o
et e T 2

Who was the main proponent of
bureaucratic theory?

AT O o1 26T (T SAIMRe 2

Name one example of auxiliary agency.

(30T SRS (ST BT Sz oy |

Who was the author of the book, The
Principles of Scientific Management?

The Principles of Scientific Management
R 2RI (I o711 IR 2

Write one characteristic of government
corporation.

SR ST 1 e gy fora |

What do you mean by Chief Executive?

T3 SRR fefest 6 g2

In which year was the first
Minnowbrook Conference held?

2 s fiem ol cafe 2

( Continued )



(3)

(i) Why is the line agency considered as the
fourth organ’ of Government?

FRAR (oM5F e ‘v ke I R P
7

() What is 4Ps?
4ps f$7

2. Answer the following questions : 2x5=10
weTS i epIeaRe Bed ford -

(a) In which year was the first book on
Public Administration published and
who was its author?

G -2PP T8 29 %G (Ifou 2P

CafRe I 23 (R oAl PR 2

(b)) Write two differences between public
administration and private
administration.
I i o W i o e S )
of12fe fora |

(c) Write two features of Max Weber’s ideal
type of bureaucracy.

¥ (@A S SCAeTegd 1ol CIf¥Es o |
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4 )

(d) Write two differences between integral
view and managerial view of Public

Administration.
e 151 A1 fora o

(e) Mention two advantages of public
corporation.
51 fAarq o1 R Teas w4 |

3. Write short notes on (any four : 5x4=20

5] o1 o (R’ e wif<dn)

(a) Politics and administration dichotomy
GG SE 2HPY fR-Rermem

(b) Importance of Public Administration
CF -2 P BFY

{c) Span of control
Frar Reefe

(d) Staff agency
SRS (315

(e) Bureaucratic theory

ATl EE ©g

(/) Decentralization

Reediea
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(S)

4. Answer any four of the following questions :
10x4=40
@ R IeT w101 o Tey for

(a) What is Public Administration? Discuss
the evolution of Public Administration
as a separate discipline.
-2 52 @1 93 Ran ot @e-
SPIPTR SRR SCADT 1

(b) Discuss the scientific management
theory. What are its contributions?
EET IEOE OG0l SCEnAl F9 1 N
SEAPTR 16 2

(c What is centralization? Write the
causes, merits and demerits of
centralization.

@EPe I B @7 @AW IR, B9
[ (TR S 1 |

(d What is line agency? Discuss the
characteristics and functions of line
agency.

IREE el 52 IRER oM QEY T
SR S Fq |
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(6)

() What are the qualities of a Chief
Executive? Discuss his functions.
331 IECIRRR A e PR o /2 06
SR SCeDal I

() What are different  types of
departments? Discuss the basis of the

departmental organization.

e Rfsa aeremz & 62 Red ke
SRETYR L 1 |

(g9 What is hierarchy? Discuss the merits
and demerits of hierarchy.
Sy 7 WG 91 W @RTR AN
<41 |

(h) Discuss the importance of ethics and
values in Public Administration.

CEIR-2HPe  (Afedel S FEE T
fae seamn 40 1
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(7))

OPTION—B
Paper : POL-RE-5026

( Select Constitution—I )

1. Answer the following as directed : 1x10=10
TS IR et ® T fim

(@) The British Constitution is rigid/
flexible /partly flexible.

( Choose the correct answer )

bR WRam S/ e
T |

( om Teacor AR e )

(b) Who decides as to whether a Bill is a
Money Bill or not in Britain?
e 6 9@ wY R @ @ ™ @A
AR e 2

{c) In Britain, all acts of the King are really
the acts of Ministers.

( Write Yes or No )
foTe IWB T A N HOACS TR
391 P2

(= =y foran )

24A/185 ( Turn Over )



(8)

(d) The Supreme Court of UK came into
existence in 2005/2009/2015.
( Choose the correct answer )

Ge  Owey  TEEm e 2R
300¢ [R005 fRod¢ O

( % TeIco! AR Teredr )

(e) For how many terms, a person can get
elected as the President of USA?

ARIR A e SRR @ s
2’ A ?

{f) The term of the members of the Senate
is 2/4/6 years.
( Choose the correct answer )
01 STETPTReR FREE /8 /b TR |
( == ool IR Sferea )

(g9 The USA President is both the head of
the State and head of the Government.

( Write Yes or No )

AR ISR A8 oF RIR [EBIA
TR/

(= ==y o )
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(9)

() Which Constitution provides for the
principle of checks and balances?

GFRA KRS SHEIEE S qE@q Alfe]d
T SR 7

(i) The principle of Separation of Power has
been applied in India/UK/USA.

( Choose the correct answer )

FIOA AR AWehl SRty /RbA /
SRS 2ACq1s 91 2 |
(% TeCh! AR et )

() The British Constitution does not really
exist—was said by de Tocqueville/
Munro/Blackstone.

( Choose the correct answer )

fiftr Reme egore R = IfRA de

Tocqueville/ Munro/Blackstone-9 |

(”\‘HWW@ZW@)

2. Answer the following questions : 2x5=10
©o 2R Sed e

(@) Mention two features of Constitution.

FRAI 701 CIFBS SrEd 34 |
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(10 )

(b) Mention two conventions relating to
the British Parliament.

o= LR A9rS QTS o1 =1 Srag 41 |

(c) Mention two examples of Parliamentary
Government.
AT S T4 SRR SCEY 0 |

(d) Name two political parties of Britain.
6= 101 IS Werk A Tegy 40 |

(e) Mention two features of the Constitution
of USA.
HIERIR TR 701 CAABT Teas 1 |

3. Write short notes on any four of the

following : 5x4=20

e | Al SRR eoRe 5y R for

(a) Qualities of good Constitution
A-RE BPR

(b) Concept of Constitutionalism
ARRAATORIE R

(c) Basic features of the British Constitution
o= iR et iz

24A/185
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(11 )

(d) Dictatorship of Cabinet in UK

fcoTe @R qwmeTm
(e} Judiciary of USA
AR T
(f/  House of Senate
focAs e
4. Answer any four of the following questions :
10x4=40
OeR PR R @1 w1kt T fora
(a) Discuss about the classification of the
Constitution.
AR iR R S 4 |
(b) Discuss the role of conventions in
Britain.
6T e PR SR S 9 |

() “The US Constitution is the briefest
Constitution in the World.” Explain the
statement.

“HIARER RaAE ey wibiRete 5
R 17 SREChT = 354 |
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(12 )

(d) Discuss the reasons behind the
increase in the powers of US Federal

Government.
HEARF TSER TR FHOl fad HIATS
T FIRPTR ST 1 |

(e} Discuss the powers and functions of the
US President.

SRR MR el W IR SACEA
LIl

(/) Compare the powers and functions of
the President of USA and the King in
Britain.

AP G o [ibaw e HHel W
FREA! Pl B 0

(g) Compare the powers and functions of
the British House of Lords and the
American Senate.

RoTR G16 STl W ARFR Bb1 FIe <
IR Pl 41 |

(h) Make a comparative study of the US
Congress and the British Parliament.

SRR TR 9 Kb Ao b1 g
SICEoAT 41 |

* K &

24A—25*/185 3 (Sem-5/CBCS) POL RE 1/2



